P2 O 5 SRl AT —RE et - Rk 5
PSS 4]

WA EE K ®BOF 4UR Z M & A
z * - |ME| E  E W% s
(® B &) BT [T W — R 3 |SL 2K AP GSL 1 A R&PIEHE
[ I F A R 2 |SL 2 KBHEDT
IR FEOVEBE &S B 1 [5kmCC 16’2974 (110) 5kmCF 14’0370 (111)  4X5kmR@® 16”4270 (15)
moOR A s TN ik 1 GSL 1A H R e
TR, w R 3 |SL 2ARRHEDT GSL  2°03767(101)
TEHRF—15 Al Zz |ET 485 2 [5kmCC 16”4075 (116) 5kmCF 14’3371 (120) 4 X5kmR@ 17’ 08”8 (13)
SxA4 T A=A RS KRR 1 5kmCF 15’5571 (145)
saxRAVRY—; J¥5 1Lt S FAE EH (BT KRR 2 |SL 2 ABHEDT
fEHR F—15 i Bz [deil B 3 |5kmCC 16" 46”7 (118) 5kmCF 13’4871 (105)  4X5kmR@ 154779 (14)
YARAYFY—a—2 15NN 2 |5kmCC 17" 4776 (135)
J¥5 1L Ak 3 NN W U N 2 GSL 1 AR HIRHIEHE
H30 2/8~11 5 1 L1 P 358 P e e L N 1 |5kmCC 17°3075 (129) 5kmCF 15”0871 (133)
JNHL 1 |5kmCC 17”1871 (127) 5kmCF 15" 0870 (132)  4X5kmR@ 15" 1272 (14)
(PR 73 T - M - bl -/ 4X5kmR - 1:04° 5170 (13)
Ly | &L s BR |/RAABERE 3 |SL 2B EDT
% B B & | KE = 2 GSL  1°36749( 97)
B R TR | AR TR 1 |sL 1IAB®TIERE 6L 1731704( 74)
= E HHOER |BA e 1 |3kmCC 10”4471 ( 90) 3kmCF 9728”8 ( 93)
n R ATE RZ |7 Y 1 [3kmCC 13’0276 (108) 3kmCF 11’3276 (110)
5 11 P 18 AR AT |R)IEET 3 |SL 2ABHEDT  GSL 1727783 ( 57)
Ji (LA T BT KA |FEETRTY 3 |SL IZNEES 3
AR = ANCEI S B e 2 GSL 1 A HEH I
i
F 118 (15 4 21 4




